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Aoyars s | BN 1 15,000,000 13,500,000 90.00 %
BINE 1 =gy 0 0 0 0.00 %
e 0 0 0 0.00 %
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AR Py 0 0 0 0.00 %
12 0 0 0 0.00 %
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opm ez | LB : 55,060,000 13,580,380 24,66 %
FENE 5 gz 0 0 0 0.00 %
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A% 0 0 0 0.00 %
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A 0 0 0.00 %
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FENE 5 gz 0 0 0.00 %
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A% 1,965,256, 000 1,934, 411,840 %8.43 %
Aoyars s | BN 1,965,256,000 1,934, 411,840 %.43 %
BINE 1 =gy 0 0 0.00 %
e 0 0 0.00 %
A3 0 0 0.00 %
Nxlc s | LEE 0 0 0.00 %
AR Py 0 0 0.00 %
12 0 0 0.00 %




O "oIXHIA &eHZE 0t
O ASIITHXIREIS] 2019EE MOIXIOIAFS B5IH ARIOI 10,631,866 2I0] BATIUO0, 10,313,32082I0] &
#5l0| WUBS o7
Os & X (S @ OH, |, %)
=T =-! Al 2= 0| A oH NS SEE
= Wl s 14,886,967 ,550 10,313,234,430 69.28 %
2 ot 5 Hl s 14,886,967 ,550 10,313,234,430 69.28 %
0 8 o= w8 A o0 0 0 0.00 %
o) 2| o 0 0 0.00 %
[ AlSle =21 (&2 0, &, %)
3 H =& AF Il 2= 0| A oH INESL SEE
= i 5 14,886,967 ,550 10,313,234,430 69.28 %
A 0 0 0 0.00 %
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A% 1,741,064,000 1,705,868, 444 97.98 %
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Aoyars s | BN 274,976,000 260,919,120 94.89 %
BINE 1 =gy 0 0 0.00 %
e 0 0 0.00 %
A3 0 0 0.00 %
Nxlc s | LEE 0 0 0.00 %
AR Py 0 0 0.00 %
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[ AlSle =21 (&2 0, &, %)
3 H =& 0| A oH INESL SEE
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FENE 5 gz 0 0 0.00 %

12 0 0 0.00 %
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BINE 1 =gy 0 0 0.00 %
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o) 2 0 0 0.00 %
[ AlSle =21 (&2 0, &, %)
3 H =& 0| A oH INESL SEE
= i 17,500,000 17,250,000 %.57 %
A 0 0 0.00 %
opm ez | LB 0 0 0.00 %
FENE 5 gz 0 0 0.00 %
12 0 0 0.00 %
A% 17,500,000 17,250,000 %.57 %
Aoyars s | BN 17,500,000 17,250,000 %.57 %
BINE 1 =gy 0 0 0.00 %
e 0 0 0.00 %
A3 0 0 0.00 %
Nxlc s | LEE 0 0 0.00 %
AR Py 0 0 0.00 %
12 0 0 0.00 %
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= i 1 25,000,000 23,750,000 %.00 %
A 0 0 0 0.00 %
opm ez | LB 0 0 0 0.00 %
FENE 5 gz 0 0 0 0.00 %
12 0 0 0 0.00 %
A% : 25,000,000 23,750,000 %.00 %
Aoyars s | BN 1 25,000,000 23,750,000 %.00 %
BINE 1 =gy 0 0 0 0.00 %
e 0 0 0 0.00 %
A3 0 0 0 0.00 %
Nxlc s | LEE 0 0 0 0.00 %
AR Py 0 0 0 0.00 %
12 0 0 0 0.00 %
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AR Py 0 0 0.00 %
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